2 2

sin“x +cos“zx =1
sinxz +cosxz =1

tan?x 4+ cot?xz =1

2x=1

Vz sin? z 4+ cos
dxr sinxz +cosxz =1

132 tan?xz +cot2z =1

+ 2 sin cos tan cot

3="T7
x=7 z4+y=7 Jylx+y="7)
E: VaVyx =y

Sp(F)



Jp [V$1V$2 (o(zq) = p(z3) = 71 = 25) A

(12)
A Wz p(x) # y]
33y (Yol # 9() A 13
AV Yoy [9(,) = (z5) = 71 = x;])
o, (), v(0)), YW ((0))), .. (14)
A, dzy3dx, T, # x4 (15)
Sp(Ag) = {]x>2} (16)
A, : Jdz,3z, ... Iz, (

Ty F Xy NXy Fx3 Ao N xyFx, N (17)

ANxy #xg Ao N2gFz, No Nx)y_1F#12,)
Sp(A,) = {x|x>n} (18)
dz, .. 3z, /\ T; # T, (19)



B, : A, NA, L, (20)

Sp(B,,) = {n} (21)
{a, b, ¢, .., 1} (22)

B{a,, b, c, .., l} —
B, VB,V B,V. VB (23)
SP(Bya, b, ¢, .., 13) = {a, b, ¢, ., 1} (24)
B, b e, ..13 = N\{a, b, ¢, .., I} (25)

Jw Ve lw # ¥(z)] A
AV Ve l(z,) = P(xy) = 21 = 251 A (26 13)
AVy3zly = ()]

JwIp Ve (w # ¥(z)) A
AVz Ve, (Y(z,) = Y(zy) =z, = z,) A (27,3)

/\VW(;/V(w) AVz [W(w) =>AW(¢(w)5] = ‘v’a:W(:z:;)



AKCHOMEI IMHEMHOT O IIOPsSaKa

H1. VaVyVz(z < yAy < 2= < 2).
H2. Vzl(x < ).

H3.VaxVy(r <yVy<zVz=y).

JlemeKMHOOBO CeYeHue

HA4. VP[ (rELch(:c) A FY1P(y) A ‘v’ac‘v’y[(P(:c) ATP(y)) = z < y]‘) =

= ([Eu(}j(u) AVz[P(z) = (z ; uVz= uii) \4

VHU(:IP(U) A Vy[:IP(y) = ('v; yVu= yi]‘)] A

A'I[Hu(}J(u) AVz[P(z) = (z 2 uVzx= ui]‘) A

/\Hv(:IP(v) A ‘v’y[:IP(y) = (vA< yvou= yii)] ) ]

O6BEM cBoiCcTBa () IIJIOTEH B HOCUTEJIe, UJIH,
HedopManIbHO, MHOXKECTBO () IIJIOTHO B HOCUTEJIe

H5.VavVzle < 2= Q) Az <y Ay < 2)].



II71st MHOKecTBa () KaK OBl BBIIIOJIHSIIOTCS aKCHOMEI
HaTypaJabHOTO psga

H6. Q(0g).
H7. Vz(Q(z) = Q(z’)).
H8. 132(Q(z) Ao’ = 0g).
HI. Vavyl(Q(z) AQ(y) A (2’ =) = (z =y)].
H10. vP( [ P(0g) AV2(1Q(2) A P(2)] = Pe)) ] =
= vz[Q(@) = P@)1).

JIro6oe HagMHOXKEeCTBO MHOXKeCTBa () SIBISETCS paB-
HOMOIITHBIM 1100 (), 1100 BCceMy HOCHUTEIIIO

H11. VW( [er(Q(x)A=> W)l =

= 3o ([ W) A (o) = )] A

AV, V, [ (W(wg) A W(zs) A (o(er) = 9) A (9(22) = 1) =
= (z; =2,)]) V

V (vz[W(z) = Q(e(@))] A

7\

AL Q) = Fe(W@) A (o(@) = o) ] A

AV Vi, [ (W) A W) A (1) = ) A (9(@2) = 1)) =

= (x4 :5’72)])])




